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P44 H HA: par s
(8 + 4x)(8x —2) (2x + 8)(2x — 8)
(5x* — 2)(3x — 5) (2 + 4x)(9x + 5)
(x+ 8)(2x + 9) (> — 8x— 8)(x + 3)
(9x — 3)(7x* — 6x — 6) (6+ 6x)(4x + 4)
2+ 6x)(3x +9) (o — 4)(6x + 7)
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(8 + 4x)(8x — 2) (2x + 8)(2x — 8)
32x% + 56x— 16 4x* — 64
(5x> — 2)(3x — 5) 2+ 4x)(9x + 5)

15x° — 25x% — 6x + 10

(x+ 8)(2x +9)
2% + 25x+ 72

(9x — 3)(7x* — 6x — 6)
63x° — 75x* — 36x + 18

2+ 6x)(3x+9)
18x> + 60x + 18

36x” + 38x + 10

(* — 8x— 8)(x + 3)
X =5 —32x— 24

(6 + 6x)(4x + 4)
24x” + 48x + 24

(2 — 4)(6x +7)
6 + 7xF — 24x — 28
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